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Check MC — script for protons and He?

3000

2500

2000

1500

1000

500

MC
protons

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0.4 0.6 0.8 1 1.2 1.4

x10° mass? proton
402_ Entries = 538568
3 o
30; ﬁffﬂﬁfv —
25§—
A Ar data
5= protons
10—

- o N AR
8.2 0.4 0.6 0.8 1 1.2 14

m?/g?, GeV?

450 :—
400
350 ;— MC
300 3 He3
250
200 i—
150 f—
100 f—
50—
E = 1 S |o 1 1 1 L 1 1 1 == =
mass? He3
hmhe3
— Entries 9400
250:_ gtzagev 012?;71
C Underflow 720
- Overf 0
200— In\t/:gr;)lw 8680
150~
- Ar data
100 :—
50 H
0 1 1 1 1 1 ﬂl |
1.6 1.8 2 2.2 24 2.6
m




3000

2500

2000

1500

1000

500

450

400

350

300

250

200

150

100

50

m?(p,He3 )distribution weighted

f_ LA
— + *s .
— ot + rotons From fit Ar
E_ . * P data:
= . . Mean m2p =0.81;
— . e, c,(M?)=0.08;
- &+
= o . Mean m?(He3) =1.81;
— b . -
— ““4# *H#* s o He3(m2)—0.13
— PO R g e et
E‘*‘fﬂ“ﬁ'm* . " . . | . . | . . . | . . .““*T‘“*fm“fﬂ“qma*
04 06 0.8 1 12 14
= 4 HH + 'H#_ | Hes
= +_+_+ + 1 +++ |
— + +'H' + +
— LA
= b M,
= *'*'-+-m-++ +'+'+.4:*' .
; - “:‘__"4_-".*_4* 4 -*-"H" _*,*:*' -*-'4'4'_‘_-*-"'_‘_-1 .
1.4-t I I I 1.|5 I I I 1.|E I I I El I I I 2.|2 I _I‘- — -‘I- _"2-!4- _‘:#_‘-‘:‘11

m?/g?, GeV?



m?/qg?, GeV?

Distribution of the m?of the p/q for nuclear fragments

Y projection m?2 vs p (1t+,K+,p+,He3,t,d)
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Get slices along m? vs p/q for nuclear fragments

Fit each slice using ModGauss(1%t peak) + ModGauss(2"d peak)+ expo(background ) function

Get Mean & Sigma from the fit

05 1 15 2 25 3 35 4 45 5

300

200

100

p/g, GeV/c

Make plots: dependencies Mean (m?) vs p/q, 6(m?) vs p/q, Mean (m?) £26(m?)

Get information about identification fragments



Fit formula — ModGauss(1,2)
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Slice (m?vs p/q) fit ModGauss(1°t peak) +ModGauss(2" peak)+ expo(background )
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Slice (m2vs p/q) fit ModGauss(1st peak) +ModGauss(2" peak)+ expo(background )
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Distribution ¢(m?) of p/q for proton Distribution mean (m?) of p/q for proton
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Distribution mean (m?) vs p/gq, mean (m?) £2¢
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M2 distribution for p and He3
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m2(p,He3 )distribution weighted for Ar data
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Fit three peaks for p ,Hes,d
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Slice (m2vs p/q) fit ModGauss(1st peak) + ModGauss(2"9 peak) +

ModGauss(3"9 peak) + expo(background )
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counts

Slice (m?2vs p/q) fit ModGauss(15t peak) + ModGauss(2"d peak) + ModGauss(3"
peak) + expo(background)
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counts

Slice (m?vs p/q) fit ModGauss(15t peak) + ModGauss(2"? peak) + ModGauss(3"
peak) + expo(background )
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counts

Slice (m2vs p/q) fit ModGauss(1st peak) + ModGauss(2"9 peak) + ModGauss(3"
peak) + expo(background)
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Distribution mean (m?) of p/q for deutron
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Distribution mean (m?) vs p/q, mean (m?) +2c
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